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Sample Questions

ARFFEA ATHGE -
THIS QUESTION PAPER CANNOT BE TAKEN AWAY.

AFEFERE - V77EREEE - SRI2EERA TREWEUNER -
DO NOT turn over this Question Paper without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.
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All answers should be written on the ANSWER SHEET.
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Section A — each question carries 4 marks

1)

2)

3)

4)

5)
6)
7)

8)

WA - ZWEHEAR - CRIFANEE R 3% ~ ZHVRE R 4% > RIER - 2853008 &
tERES » SKEEERIVEFEY - (BFEHFVNEFRR)

Alcohol solution A has a concentration of 3% and Alcohol solution B has a concentration of 4%. Solution
A and solution B are mixed in ratio of mass of 5 :3. Find the concentration of the mixed solution.

ER—IE A — B R E T fy 100 - K& R 2 =0 ME -
There is a square and a rectangle. The area each of them is 100. Find the minimum possible difference
between their perimeters.

FHVER 10 g I EAGE 1% - /£ CGBMRd) b—4HLLERER - D BYERHE — SN -
BB AR B IE e B e © ERIZ A as N ERHYAGHR Ry 1000 127 [EDK - SRAELEFRBALGNT
YYEREetE - (WMAFRE  BEFUVNEIES - )

A substance will double its volume every 10 minutes. When the 2016 Hong Kong & Macao
Mathematical Olympiad Open Secondary 1 section starts a small amount of the substance is put in a
container. The container is just fully occupied at the end of the competition. Given the internal volume of
the container is 1000cm?, find the volume of the substance at the beginning of the competition. (Show
your answer in decimals when necessary)

K3.13+2.016 Y{H - WLATEER/ NEERRE S -

Find the value of 313 + 2.(.)16 and show your answer in recurring decimals.

~ FisE ~

~ End of section A ~

AR AERER - Bt EERET R HEERM - WHECR R BEiT T8 SRt RS RSN -
BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.
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Section B — each question carries 5 marks

9)

10)

11)

12)

13)
14)
15)

16)

CHEES x>0 Hx=3{3y3/... > Kx i
It is known that x is rational, x>0 and x=34/34/ 3+... . Find the value of x.

1390625 =5 » SR 1+5+25+125+625+...+390625 (I{H -
If 390625 =5", find the value of 1+5+25+125+625+...+390625.

£ T PEEALES o BAIM (x0) & 4(3,13) 71 B(9,-3) £YHEE - S x+y H9{H -
In rectangular coordinate system. If M (x, y) is the mid-point of A(3,13) and B(9, —3) .Find x+y.

EAFEEA=APNRREABNRZIER1:3 - ERER 12> X=APHHIA -
It is known the two sides adjacent to the right angle of a right-angled triangle are in the ratio of 1:3.If
the length of the hypotenuse is 12, find the area of the triangle.

~ ZH5 ~

~ End of section B ~
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Section C — each question carries 7 marks

17) £ " HHEALEZ ) o B4 fl B AES R (-14,6) F1(7,-3) » H M j2& AB LH)—E5(#ES
AM :MB =2:1 o 3543k AB 5 M BLERS ST e R 1% - B BEEAE (3,-7) » 3K A BEAUHr AL -
In Cartesian coordinate system. It is known the coordinates of 4 and B are (—14,6) and (7,-3)

respectively. M is a point on 4B such that AM : MB =2:1. The line segment 4B rotates about M, if the
new position of B becomes (3,—7) , find the corresponding new coordinates of 4.

18) &%a=3.13+3.113+3.1113+.. +3111 13 > 3K a HEEEER 4T o

100E r1J
Let a=3.13+3.113+3.1113+...+3.111...13, find the integral part of a.
100 'I's
19)
20)
~ 5T ~
~ End of Paper ~

AR AERER - Bt EERET R HEERM - WHECR R BEiT T8 SRt RS RSN -
:.*TLMEﬁ%T [?ED%ETME ?Fﬁﬂ/f( PREFHIGEISN - HRERSRAL - sERBEADR A G TAEM 78 -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.
Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



